EARAROBEEIERT — 2 N— IBISH —F

2018558118 (&) SEIAHS5H

m"f7¥ % C21112 ‘(ﬂi} W ‘Béiﬂélasﬁ] — | % ® 16000 =
[A&4] 1 7% :1,000,000 @ ~ 2 3 :400,000 @ 33 :250,000  ~ 4 3% :150,000 @ . 5 7 :100,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R N RFES -44. —4-3- X — BRE (KH#H)
1Ao7V 71y >a SRS 1(4_4)3 R ! ff) RERSET
LY LTAN— b BYLLTHAHE I 4
g #1138 144, —1-1- X - KEEM (KH)
21111 =EED IR 4 6 s 1(74111:)3 1-1-1-1 | 40.6 1 (4_558) b=
R:TLAI5>Ty N Bidpk—1)>y FUALT7— L
— PHIHER 144, ~6-6- . — KA (KH)
N . BEESEET A 5 g 1(424>7 6-6-6-5 | 40.5 2 12(6);5 e
RIVINAT4A—hH— B:TIIALEY Wt hFILZ Ry K
= ft 8 | FEEX 1:44.9 12-12-10-10{ 40.5 | — 9 M7 | FEABE (Af)
4157 X074 — 54.0 (1 1/4) (-3) INEF BT
R:ZNAF2—b B:UNLSTYLY NEFH R
4 6 | HERE— 1:45.0 10-10-8-7 | 40.8 | — 3 479 | FEFHBARL (/1K)
EH 9 -7 56.0 (1/2) -1 HRISRIE
LA M=3I>FFR—L B:HIVUT H—L— - TxIN> - T7—LARSE
. 4 6 | AEE 1:45.5 6-7-5-5 |41.6| — 1| 499 |fEAARFE— (KH)
617110 JRIWVHT A Y — 56.0 (2 1/2) (+4) EER
L:T7LBAT49 77148 B:T7FUH BORYOS
N N LN 00— - KBz (KH)
7 5| R7¥aviLy b Ao 1(14/52'>6 Fers a9 ® (11638) e
LO—Y XA x4 BiRkysavT—ILK #i B
P, 5 | BEY 1:45.8 13-13-12-11| 41.2 | — 7 448 | BEEBRIK (KH)
8 4 4 al=3T= EE.JO (1 1/4) (+5) (#) V=2
R:d7—3IUF7> B:TFLIUTR [z~ ]
t 5 | FHE 1:45.9 4-3-4-4 | 42.2| — 492 | FREEAE (KH)
9lgli3| TAX>2O— * 56.0 (4€) ’ ’ :1) ARG
Zox4a BixFal HEKE
i 4 4 | HAEXH 1:46.0 11-9-9-8 [41.6| — 5 490 | FBAFE (AviK)
105|677 YV 56.0 (172) (1) | LO—E8
R:FHYTTIRE B RNUTINEAL i &
5o f 5 | ALEEE 1:46.1 5-5-11-12 | 41.8 | — 12 | 502 |YETEAH ()
1118 12| 74 —A~¥ 2 a—Jb A51.0 (1/2) (1) | HARLER
R:T—v 74— B:IUvsE—H—F J—HrTr—L
o TEORE : -8-7- — NEFFERE (/)
ISR I ZER. 2N "4 s e M el 0 ff;) kmwE
R:707% 874 bSr=— J =% Ty — I
= st 4 | THE 1:47.4 8-11-13-13 | 42.5 | — 13 | 482 |=EHB (KH#H)
EHB VIR — 56.0 (3 1/2) (+8) '_EE) /X
R:24—1)>9A-X BEIN-F1— A AKX
® I—F—@EBIERL
13—7F— 1,2,5,13,12,(3,10), (8,11),9,6,7,4
Ao=5"= 1,5,13,2,12,3,10,11,6,9,8,7,4
T =35r= 1,5,2,13,10,3,11,9,6,7,12,4,8
41—F— 1,2,5,13,(3,10),9,6,11,7,4,12,8
[ N5
-y 2 760M | | A K 1-2 300/ | | # = 1-2 1,110 | | 3&4& 1-2-3 1,340
# B 2 160/ 2=3) 410 B 2-1 2,510 EE 2-1-3 7,900
1 120 1-3 370M B = 1-2 1,100/
3 150 B H 2-1 3,200M

ABTICOVTRDTEEERROODE, JHB LS,




